## **CORRIGENDUM No: 1**

#### to the

### Sustainable Park Investment

Publication reference: BSB00353-WORK01/SA03

Subject: INTERREG Next Black Sea Basin Programme, LAP BLACK Project

Location: Sakarya, Türkiye

BSB00353- Strengthening Local Response Capacities for Climate Change in the Black Sea Region / LAP BLACK » project related to BSB00353-WORK01/SA03 - Sustainable Park Investment has been corrected or changed as follows:

Construction Work Correction No: 1

Amendment No. 1:

Unit Price Offer Table - 01.01 Structural Landscape

Corrected:

A) Row No: 3 – PYZJ-3

Description: Wooden seat (pine) – Seating bench supply and installation

Quantity: It has been corrected to 2 pieces.

B) Serial No: 18 - PYZJ-18

Description: Wooden seat (solar powered) – Seating bench supply and installation

Quantity: It has been corrected to 2 pieces.

## **The Initial Version**;

#### **UNIT PRICE QUOTE SCHEDULE**

### 01.01-STRUCTURAL LANDSCAPE

	A1					B2	
Seria I Num ber	Work Item No.	Name and Brief Description of the Work Item	Unit of Mea sure ment	Amount	Offered Unit Price (Euro)	Amount (Euro)	
1	PYZJ-01	FERTILIZING THE SOIL, PROVIDING GRASS SEED MIXTURE, HAND RAKEDING THE SOIL IN GRASS FIELD DESIGN, CLEANING WEEDS IN GRASS AND FLOWER FIELDS, PLANTING MEADOW SEEDS  ( READY ROLL GRASS SUPPLY AND LAYING )		2.50 0 .00			

## 01.01-STRUCTURAL LANDSCAPE

	A1				B2	
Seria I Num ber	Work Item No.	Name and Brief Description of the Work Item	Unit of Mea sure ment	Amount	Offered Unit Price (Euro)	Amount (Euro)
2	PYZJ-02	SUPPLY OF HERBAL SOIL, LAYING OF 1 M3 HERBAL SOIL WITH A THICKNESS OF 10-15 CM ON THE FIELD TO BE COVERED HERBALL, FARM FERTILIZER, SUPPLY AND LAYING OF FERTILIZED SOIL MORTAR, ORGANIC FERTILIZER	МЗ	300.00		
		( SUPPLY AND SPREADING OF HERBAL SOIL )				
		WOODEN SEAT (PINE)				
3	PYZJ-03	( SITTING BENCH SUPPLY AND INSTALLATION )	NAM E	4.00		
4	PYZJ-0 4	BIN (TRASH BIN SUPPLY AND INSTALLATION)	NAM E	4.00		
5	PYZJ-05	RECYCLING BIN ( RECYCLING BIN SUPPLY AND INSTALLATION	TKM	2.00		
6	PYZJ-06	INFORMATION SIGNS  ( WOODEN INFORMATION SIGN SUPPLY AND INSTALLATION )	NAM E	3.00		
7	PYZJ-0 7	CHILDREN'S PLAYGROUND ELEMENT - ROPE PASSAGE WITH SLIDE (WOODEN PLAYGROUND SUPPLY AND INSTALLATION)	NAM E	1.00		
8	PYZJ- 8	WOOD-THEMED CLIMBING  ( WOODEN CLIMBING PARK EQUIPMENT SUPPLY AND INSTALLATION )	NAM E	1.00		
9	PYZJ-9	SWING  ( SUPPLY AND INSTALLATION OF WOODEN 2-SEG SWING )	NAM E	1.00		
10	PYZJ-1 0	WOODEN SEAT (PINE) ( WOODEN LOG SEATING UNIT SUPPLY )	NAM E	9.00		
11	PYZJ-1 1	FENCE ( WOODEN CURB FENCE SUPPLY AND INSTALLATION )	МТ	115.00		
12	PYZJ-1 2	FENCE ( WOODEN PERGOLA SUPPLY AND INSTALLATION )	NAM E	1.00		
13	PYZJ-1 3	BICYCLE STATION/PARK  ( BICYCLE PARKING SUPPLY AND INSTALLATION )	NAM E	2.00		
14	PYZJ-1 4	CHILDREN'S PLAYGROUND ELEMENTS  ( SUPPLY AND INSTALLATION OF OUTDOOR SPORTS EQUIPMENT (6 PIECES) )	TKM	1.00		
15	PYZJ-1 5	COMPOST MACHINE ( COMPOSTING MACHINE SUPPLY )	NAM E	1.00		
16	PYZJ- 16	AIR STATION (A)  ( AIR EMISSION DEVICE SUPPLY AND INSTALLATION )	NAM E	1.00		

## 01.01-STRUCTURAL LANDSCAPE

A1					B2	
Seria I Num ber	Work Item No.	Name and Brief Description of the Work Item	Unit of Mea sure ment	Amount	Offered Unit Price (Euro)	Amount (Euro)
17	PYZJ- 17	AIR STATION (B)  ( SUPPLY AND INSTALLATION OF DRINKING WATER PRODUCTION DEVICE )	NAM E	1.00		
18	PYZJ- 18	WOODEN SEAT  ( SOLAR POWERED SEATING BENCH SUPPLY AND INSTALLATION )	NAM E	200		
19	PYZJ- 19	BALANCE GAME ELEMENT  ( SUPPLY AND INSTALLATION OF BALANCE PLAY EQUIPMENT )	NAM E	1.00		
20	PYZJ- 20	CAST RUBBER  ( MAKING RUBBER TILE IN 40x40 SIZES WITH 3 CM THICKNESS )	M2	350		
Total Amount (Excluding VAT)						

# **As Corrected:**

## 01.01-STRUCTURAL LANDSCAPE

A1					В2	
Seria I Num ber	Work Item No.	Name and Brief Description of the Work Item	Unit of Measur ement	Amount	Offered Unit Price (Euro)	Amount (Euro)
1	PYZJ-01	FERTILIZING THE SOIL, PROVIDING GRASS SEED MIXTURE, HAND RAKEDING THE SOIL IN GRASS FIELD DESIGN, CLEANING WEEDS IN GRASS AND FLOWER FIELDS, PLANTING MEADOW SEEDS  (READY ROLL GRASS SUPPLY AND LAYING)	M2	2.50 0 .00		
2	PYZJ-02	SUPPLY OF HERBAL SOIL, LAYING OF 1 M3 HERBAL SOIL WITH A THICKNESS OF 10-15 CM ON THE FIELD TO BE COVERED HERBALL, FARM FERTILIZER, SUPPLY AND LAYING OF FERTILIZED SOIL MORTAR, ORGANIC FERTILIZER  (SUPPLY AND SPREADING OF HERBAL SOIL)	МЗ	300.00		
3	PYZJ-03	WOODEN SEAT (PINE)  ( SITTING BENCH SUPPLY AND INSTALLATION )	NAME	2.00		
4	PYZJ-0 4	BIN (TRASH BIN SUPPLY AND INSTALLATION)	NAME	4.00		
5	PYZJ-05	RECYCLING BIN ( RECYCLING BIN SUPPLY AND INSTALLATION )	TKM	2.00		
6	PYZJ-06	INFORMATION SIGNS ( WOODEN INFORMATION SIGN SUPPLY AND INSTALLATION )	NAME	3.00		

#### 01.01-STRUCTURAL LANDSCAPE

A1				B2		
Seria I Num ber	Work Item No.	Name and Brief Description of the Work Item	Unit of Measur ement	Amount	Offered Unit Price (Euro)	Amount (Euro)
7	PYZJ-0 7	CHILDREN'S PLAYGROUND ELEMENT - ROPE PASSAGE WITH SLIDE  ( WOODEN PLAYGROUND SUPPLY AND INSTALLATION )	NAME	1.00		
8	PYZJ- 8	WOOD-THEMED CLIMBING  (WOODEN CLIMBING PARK EQUIPMENT SUPPLY AND INSTALLATION)	NAME	1.00		
9	PYZJ-9	SWING (SUPPLY AND INSTALLATION OF WOODEN 2-SEG SWING)	NAME	1.00		
10	PYZJ-1 0	WOODEN SEAT (PINE) ( WOODEN LOG SEATING UNIT SUPPLY )	NAME	9.00		
11	PYZJ-1 1	FENCE ( WOODEN CURB FENCE SUPPLY AND INSTALLATION )	MT	115.00		
12	PYZJ-1 2	FENCE (WOODEN PERGOLA SUPPLY AND INSTALLATION)	NAME	1.00		
13	PYZJ-1 3	BICYCLE STATION/PARK  ( BICYCLE PARKING SUPPLY AND INSTALLATION )	NAME	2.00		
14	PYZJ-1 4	CHILDREN'S PLAYGROUND ELEMENTS  ( SUPPLY AND INSTALLATION OF OUTDOOR SPORTS EQUIPMENT (6 PIECES) )	TKM	1.00		
15	PYZJ-1 5	COMPOST MACHINE ( COMPOSTING MACHINE SUPPLY )	NAME	1.00		
16	PYZJ- 16	AIR STATION (A)  ( AIR EMISSION DEVICE SUPPLY AND INSTALLATION )	NAME	1.00		
17	PYZJ- 17	AIR STATION (B)  ( SUPPLY AND INSTALLATION OF DRINKING WATER PRODUCTION DEVICE )	NAME	1.00		
<mark>18</mark>	PYZJ- 18	WOODEN SEAT  (SOLAR POWERED SEATING BENCH SUPPLY AND INSTALLATION)	NAME	2.00		
19	PYZJ- 19	BALANCE GAME ELEMENT  ( SUPPLY AND INSTALLATION OF BALANCE PLAY EQUIPMENT )	NAME	1.00		
20	PYZJ- 20	CAST RUBBER  ( MAKING RUBBER TILE IN 40x40 SIZES WITH 3 CM THICKNESS )	M2	350		

. . .

All other terms and conditions of the Tender Dossier remain unchanged. This change shall form an integral part of the tender dossier and it shall enter into force on the date of publication.